B i iE KRS
108 2 Erag 348 4 £

% A

(% 28]

Ay PR EES LB EE

FEERE HEL

— e ExEER -
HELRTHAZY "TRE TRE BT eEs 242MER HELEERT
A4 o
LB EHIRTAS > EEXRMBAEN  FRANRE EFFEE
g &
. AR Eed > IS BRMERGEE » BEFLES -
3NN R 4 40 548 P R BB -
42 BRYPLRE (BES) FEBNTA -
SHREMLERAEERZEE (58%) £58 -
6. AR R AR -




B 3 B K& 108 2 F AR L33 & 5 A A

#B L4 BEX A#BEX 2 EH %17
LR BEEESA-MEEA

—~ FRAHRANATHET L) et S ELE RS RER  REMEM - MEFZ
BB W FRNBNEETETHAESR Yk EREMMHEEH - TRAZRE?255)

S TRELARERBRA RTFAALREA AAAERBARTHMHA Q) TILLY
ERFLHATEL TRENHUNRLRE A NIAARBEYRFUNERE > &
UHEEE REER  AAEEEEE 30 B REM - RACEBRRT A6 A XNaH
R A DAUBREAB LA AR ERAH - AEF 7w TRILMAR
ZHEZRHRE EEERZAHT  wEELANBRA XL ERERLEE A NIE
EEBMEEEEHEL ANAFRAZHREREEHLRENT - HFEF 2025 %)

SNAFEBNNLEETH AL TREAFEAMER 10T AT EER 1 8
FAL-A-TAHARXIZ—HEF > 5T RAEEEHIET  ARFtL8 e
FHFHREETER F - E REZAHREER > &35H A 23 300 B - TRRHE
104 £ 4 AR MEAL ZERFRRR 5 > FHERE  NRE 107 F4 8278 2k
BMBRTUANERAFRAEZE ERRE 107526 A2 EETUWE MALTEEF  TuhE
BEEER KM (X25%)

(EBLEFCRLATFLARABAREEFT ERANRA 0558 A23 8 BB R R &
REBEFIEFRML > FRNEHRLGLAE  HREF BRRF - F - ZREHE
RE > HAREEFFIRERTEHE  BBRREABEFUBRMEAFEREBOHEF
FrATE  c BEHAGRBERGRABZXEE  FEEE ST ERAAARNER F F R
I R EDARREERBASFRE  AIBRRATATABRFRRZESR 2(104)

(D)X F2m A RANER ) FERT  BRNERHAEITAEREN  BGNLE
EEEHNMA  ERAFRABELEE RFAE?(15 9)




SLPEARE 108 £ F ER L3R A 5 A

#B LA HEL A#BX 2 A K2 A
At MRS A-MEika

WA FENZEEEYRE RBR 105 FERUAHEHOCATEDIOEL  REFHE 3

(F)EBRBREAFT -~ F-EZTAERBFRRHEZ VT KE 1BE | RIUBFREEBRE

(D)2 Era e P T EREFRELBAEBARGEFEITAKE 1 AF 6 RIMTFR

BL HF L - AT AR T RETAEEEF H PR T -EABRIEF @
REFNEZEBE G IHFHREEFR F - TE AN BBEREHRGHET - F~FA
FAHRANTEIEFESFBANZITE > BRI GLELEFBAAFTTEERNZC 2R
Daa) - FEEmRAs  ARE 106 £H R T RIBRBRORMMEZY > 53] 443
2% 3000 BZR 4,000 BB ERBEME S CAGAD N EFHEB A48
MABBBREIMG B ANIREFHRFBANZITE -BEANIIZEFTH
HNRiBiBZ 105 EEMBRE  TABEAQNNACLAINAD ASHZMEARS £
BHREEHYY - F - EREXNF - AHEGILET 7 FRE (&£ 25 %)

BREEEFE 1744455 1 AE 5 X HHREEBLRERL LT AZERELofFTER
EE (15 &)

LEAEBE FEEBRAEAILGEE 1T 4£F 1 B | R2HBERERER A L&£E
& ? (10 4)






